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Mastery Activity
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Step one M
Division by sharing
Present pupis wih e olowing proble:

There are two groups of chidren. Each group has 20 penils fo share. In Group A, here are 2 chidren
‘and in Group 8, there are 5. In which group would each ohild get more penci?
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Ifthey share the pencils
faily, the ohildren in Group
A will get more each
because there are less of
‘them to share between,

We will nsed 2 children to stand up. Keep
‘giving them 3 pencl ach unila 20
‘pencis have been given out.
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number o pencis diided by chidren o shars  equals  number of pencis
tobe sharea between ‘each chid gets
(auatient)

We wil need 5 children to stand up. Keep.
iving them 3 pencil each unil al 20
pencilz have been given out.

Model how to represent tis with maripulaties fo furiher divisions without remainders. Use
handout_2L526, step!_speaking_frame to mods! haw te language fis wit the representaton. Pupis
wil s 3 sharng sirategy 12 soWe dvision caleulations. They cou racord their sharing of maipuUtves
usingjottings or pictoral represeniations. For example: using
handout_2L.526, step1. division_ by, sharing
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Number to begin with

Shared between...

Calculation and Solution
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Division by Sharing Speaking Frame

If you share O into O groups, there are O in
each group.

O divided by O is O .

O-0=0
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Liam started 1o share 18 grapes.

onto two plates. Continue to

share Lism's grapes o sofve:
o=z
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